jet

Z

Ratio to ATLAS

[EEY

0.5

7000 GeV pp Jets
:' I T I T | T I I I T I T | T I T I | T I T I:
Z_ Niet VS PT (LJ) (4 <Ay < 5) _Z
- m ATLAS .
— —A— Pythia 6.428 370 s
- A Pythia 6.428 373 =
— --©-- Pythia 6.428 374 _
— Pythia 6.428 375 —
— -4~ Pythia 6.428 381 —
[ - v- Pythia 6.428 382 ]
— 3. —
— o —
:_ 4_ ,/ \ " ’ . _:
— / ! \‘\' m u u " _
) e I
= Lo o =

1 " | .: 1 1 1 " 1 " | " 1 " 1 " | " 1 " 1
100 200 300

Rivet 3.1.10, = 3.3M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


